Year 6 Autumn Term 2

Underline a modal verb in the &
following sentence:
As long as they follow the route correctly,

all the riders should make it to the finish
line safely. R o

Put the commas in the correct places b
within this sentence:

Kieran who was extremely creative
created a wonderful sculpture during the
art lesson.

®

\4
Criminal Gets Nine Months in
Violin Case!

Why is this newspaper headline
ambiguous? (Clue: Ambiguous
means that its not clear.)

Match the suffix to the correct root word: {

class -ify
pressure -ate
active -ise

marched  cheering onlookers K

Replace the appropriate
words in the text with
synonyms from the list
above. One is done for you.

As the brass band weatked down the
road, the spectators at the parade were
whooping and waving.

walked marched

Mr Whoops has been juggling Q
with the letters from one of his

Y6 spelling words. Can you spot
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Year 6 Autumn Term 2 Answer Sheet

Underline a modal verb in the &
following sentence:
As long as they follow the route correctly,

all the riders should make it to the finish
line safely. w@é 5 —— -

Put the commas in the correct places b
within this sentence:

Kieran, who was extremely creative,
created a wonderful sculpture during the
art lesson.

®

Match the suffix to the correct root word: {

class -ify
pressure -ate
active -ise

marched  cheering onlookers K

Replace the appropriate
words in the text with
synonyms from the list
above. One is done for you.

As the brass band weatked down the
road, the spectators at the parade were
whooping and waving.

walked »| marched
whooping »| cheering
spectators »| onlookers

\4
Criminal Gets Nine Months in
Violin Case!

Why is this newspaper headline
ambiguous? (Clue: Ambiguous
means that its not clear.)

Accept an explanation about
how the headline could be
misconstrued because of the
word ‘case’ and its readers ma
think _that the criminal was
locked inside a violin case.

Mr Whoops has been juggling

with the letters from one of his \

Y6 spelling words. Can you spot

what it is? @
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Year 6 Autumn Term 2

Underline two modal verbs in the &
following sentences:

As long as they follow the route correctly,
all the riders should make it to the finish
line safely. Providing he doesn't fall off,
the yellow jersey rider can win the Tour of
Britain today. T

Put the commas in the correct places b
within these sentences:

Kieran who was extremely creative
created a wonderful sculpture during the
art lesson.

I have lots of hobbies including karate
swimming cycling and reading.

®

\4
Criminal Gets Nine Months in
Violin Case!

Why is this newspaper headline
ambiguous?

Match the suffix to the correct root word: (

class -ify
pressure -ate
active -ise

Which of the words you have made is a
synonym of categorise?

marched
pounded

cheering
onlookers

Replace the appropriate words
in the text with synonyms
from the list above. One is done for you.

As the brass band weatked down the
road, the spectators at the parade were
whooping and waving. Smiling widely,

the percussionist hit his drum.

walked — marched

-

Mr Whoops has been juggling Q
with the letters from one of his

Y6 spelling words. Can you spot
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Year 6 Autumn Term 2

Underline two modal verbs in the
following sentences:

As long as they follow the route correctly,
all the riders should make it to the finish
line safely. Providing he doesn't fall off,
the yellow jersey rider can win the Tour of
Britain today. “ - -

N

Put the commas in the correct places b
within these sentences:

Kieran, who was extremely creative,
created a wonderful sculpture during the
art lesson.

I have lots of hobbies including karate,
swimming, cycling and reading.

®

\4
Criminal Gets Nine Months in
Violin Case!

Why is this newspaper headline
ambiguous?

Accept an explanation about
how the headline could be

class -ify
-ate
>< -ise

Which of the words you have made is a
synonym of categorise?

classify

pressure

active

Match the suffix to the correct root word: {

marched
pounded

cheering
onlookers

Replace the appropriate words
in the text with synonyms
from the list above. One is done for you.

As the brass band weatked down the
road, the spectators at the parade were
whooping and waving. Smiling widely,

the percussionist hit his drum.

walked —|  marched
hit —>|  pounded
whooping |—| cheering
spectators |—| onlookers

misconstrued because of the
word ‘case’ and its readers may
think that the criminal was
locked inside a violin case.

Mr Whoops has been juggling Q
with the letters from one of his
Y6 spelling words. Can you spot
what it is? @
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Year 6 Autumn Term 2 @

Underline all of the modal verbs in the & Put the commas in the correct places b Criminal Gets Nine Months in \d\
following sentences: within these sentences: Violin Case!

i
As long as they follow the Kieran who was extremely creative created a Why is this newspaper headline
route correctly, all the riders | wonderful sculpture during the art lesson. ambiguous?

should make it to the finish
line safely. Providing he
doesn't fall off, the yellow
jersey rider can win the Tour of Britain today. They've not really won the lottery have they?

I have lots of hobbies including karate
swimming cycling and reading.

Could you rewrite the headline to
marched cheering make the meaning unambiguous?

pounded onlookers

Match the suffix to the correct root word: k

Replace the appropriate words
in the text with synonyms

from the list above. One is done for you. class -ify
As the brass band weatked down the road, the "ot . . .f
spectators at the parade were whooping and waving. pressure ate Mr Whoops has been juggling
Smiling widely, the percussionist hit his drum. _ _ with the letters from one of his
active -lse Y6 spelling words. Can you spot
walked —|  marched what it is?
— Which of the words you have made is a @ @ @ @ @
synonym of categorise?
| ynonym of categ @ l @
Use one of the remaining words in a @
> complex sentence.

Now give a synonym for another word from the
sentence.
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Year 6 Autumn Term 2 Answer Sheet

Underline all of the modal verbs in the
following sentences:

I

As long as they follow the
route correctly, all the riders
should make it to the finish
line safely. Providing he
doesn't fall off, the yellow
jersey rider can win the Tour of Britain today.

marched
pounded

cheering
onlookers

Replace the appropriate words
in the text with synonyms
from the list above. One is done for you.

As the brass band weatked down the road, the
spectators at the parade were whooping and waving.
Smiling widely, the percussionist hit his drum.

walked —| marched
hit —>|  pounded
whooping |—| cheering
spectators |—p| onlookers

Accept any other word of the same meaning as
a word from the text, e.g.

parade ——p-| procession

Put the commas in the correct places b
within these sentences:

Kieran, who was extremely creative, created
a wonderful sculpture during the art lesson.

I have lots of hobbies including karate,
swimming, cycling and reading.

They've not really won the lottery, have
they?

®

Match the suffix to the correct root word: \(

class -ify
pressure >< -ate
active -ise

Which of the words you have made is a
synonym of categorise? classify

Accept any sentence that uses pressurise
or activate with a subordinate clause, e.g.
Before beginning take-off, the pilot flicked

the switch to pressurise the aeroplane cabin.

Criminal Gets Nine Months in Q

Violin Case!

Why is this newspaper headline
ambiguous?

Accept an explanation about how
the headline could be misconstrued
because of the word ‘case’ and its
readers may think that the criminal
was locked inside a violin case.

Could you rewrite the headline to
make the meaning unambiguous?

e.g. Criminal Gets Nine Months in
Violin Theft Case!

Mr Whoops has been juggling .f
with the letters from one of his
Y6 spelling words. Can you spot

what it is? @
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